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@ x% —4xy+4y? — 9722 + 12y7 — 6zx
@x2 — (4y + 62)x + 4y? + 12yz + 972
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6. x=1-V3i <, x?2-2x+12 ZF2?

x=1- V3i oA
x—1=-+v3i 9] FHS AlFtH
(x—1)2 = (= V3i)?

X2 -2x=-40|B%
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. VT3 VTBE AN

® VI @)-vis ® Vi
@ —V15i ® -15

‘ V=3 V=5 = V3i- V5i=-+V15
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@x2+2x+2 @ ¥ +x+2 ® ¥ —x+2
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A=B(2x+1) - 6x+2 oA
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P(3) =108—-27+3a+b=0 .. 3a+b=—81
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(—2x3 xb) X 2 + (x* X ax) X 2 = (—-4b + 2a)x?

2a—4b = -8
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17.
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A (%, a, y) = (2x, b, y) = (x, 2, y)©] YoJO] A4 x, yol tiste]
A= a, b O] FH-S A5HH?

Da=1,b=2 @ a=2b=2 @azQ,sz

@ a=0b=2 ® a=0,b=0

~&B

715.9] ojol whebA Fol A& thA] 2w
(ax + ay) — (2bx + by) = 2x + 2y

o] A& x, yol tiste] Aot
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o] S4o] leje] x, yol istel Hyshee
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a, b9 3f= 5HH?

@a:—l(),b:3 @ a=10,b=3
® a=-10, b=-3 @ a=17,b=3

® a=-5b=4
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T2 x+cl EoH
¥ tax-8=(x>+4x+b)(x+c)+3x+4
|G AG: c+4=09 " c=-
A i bet+4=-8NMb=3
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@ FhH@E* - @ (W) be ® (th (b-0)
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= (b-c)(a-b)[(a-0)]




24. o AL USRI ot - 3x%% + 4yt = (2 + axy + by?) (x* +
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= (2% + VTxy + 2y%) (5% - VTxy + 2y7)
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